


() |




B

MKCL OES

- | [—







Math Q1 ( 1440 )

MKCL C}ElS
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Question NoO.

Simplify
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Total questions in exam 25

Question No. B

L
504 o

Factor the polynomial x=* +

(2 — 4)(x2 + 9)
(x + 2)(x2 4+ 9)
(xr — 2)(x + 2) (2 + 9)

(x — 2)(x 4+ 2)(x + 3)(x — 3)

| Answered: 7

— 36 completely
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Question No. 4

;o 6cd+cd”?

F actor:
(3+cd)(3 —cd)
3+ cd) (cd — 3)
(3 —cd)’

(3 +cd)”
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Question No. B

Factor Ei'.r—' [ ll:"q-Tli -]'n]_.-ll T = T 26 Iir]"']'_!l',!r-f-j-j"\
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Question No. 5

The solution set of the e«
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Question No. 14

4 2
Simplfy 2%
(ab)a




Ouestion NO

Solve A = P(1 + nr) for:




«sll mobily = 3:07 PM
< +966 54 893 2680

8 Photos

L b b=

| Answered: 16

Tolal questions in exam 25

Question No. 10
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W Question o, 1

Perform this operation and express the answer n the simplestform,
3x-6 3r+6

U ' L4
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Let{-35, -l.}, 325,-48,-08 1. % Ji_ﬁ} Listall the numbers in the set thatare elements of

rational numbers,

3512325 -08 9;
4 ]




n No. 2

1302 423

¢ 7, Simplify the following expression a = &
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M Question No. 20

Wen factored completely 2513 + 101 beoomes

3(3x? + )
3 (3 + 20)
3 (S + 2oy’

3y (B +2)




Question No. 22

Smply:~i2- 2- (6- i) - (5-i)

13412
A+
13412
134412




Question No. 17

Simplify the expression: -9 yo +(ﬂ9y)0 2




lr, Question No. 16

Gy~ 10x +20x
~15x4 4101

Smplify————

x3*2x2+4
Ixt2

x3+2x2+4
3x=2

x3+2x2+4
-3x12

-2 44
-3x42
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U=(0,1,2,3,4,5,6,7.8,9.10
U=(0,1,2,3,4,5.6,7,6
U={9.10)
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Question No. 14

§ 2
Simply =
(ab)3

1
Rt
1

0 (a*h)

 (ab)

:
]

(ab)




Use the Venn diagram to determine 1J




Question No. 16

x4 — 10.1:3 + 20X
-15x% 4+10x

Sitnplifys




Total questions In exam: 28 | Answered: 6

Question Mo. 17T

Simplify the expression: —9 _-.-r"_' +|:j_—9_1~}” ,y+=0
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Suesthion Ma. 21
(n 1

t are clements




Total questions Iin exam: 28 | Answered: &

Question Mo. 19 n

Perform this operation and express the answer in the simplest form.

3Ix— b6 Ix + 6B

24x = Z24x




Question No. 14

— 2
aax ba

Ssuanphty ———=5

(ab) a




Cuestion No. 22

Simplify: —iv2 — 2




Question Mo. 25

1 i 1
Compute (abz § 1}{;1:|;_.z

e s




\ Question No, 20

When factored completly 2513 + 102 beoomes

S0t (Sy+)




Question No. 7

The expression 197 can be classified as

Dinomial
none of these
trinomial

monomia










M Question No. 6

The solution set of the equation §(2x-1)=2410x 8
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-~ Question No. 4

Fcto completely. y4 -13 y2 +36

0 (=0-3+30+2)

(P +4) +9
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dl QUEstions In exam: 25 | Answered: 3

Question No. 1

L ompiity the following expression o = 2
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Question No. 18
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Question No. 11
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